Third Battle of Panipat - MCQs

1. The Third Battle of Panipat was fought in which year?

o A)1757
o B)1761
o C)1775
o D)1781

Answer: B) 1761
2. Who was the leader of the Maratha forces in the Third Battle of Panipat?
o A) Shivaji Maharaj
o B) Sadashiv Ballal
o C)BajiRaol

o D) Mahadji Shinde
Answer: B) Sadashiv Ballal

3. Who was the leader of the Afghan forces in the Third Battle of Panipat?
o A) Akbar
o B) Sher Shah Suri
o C) Ahmad Shah Durrani

o D) Nadir Shah
Answer: C) Ahmad Shah Durrani

4. The Third Battle of Panipat was fought between the Marathas and which other empire?
o A) Mughal Empire
o B) Sikh Empire
o C) Durrani Empire

o D) Rajput Confederacy
Answer: C) Durrani Empire

5. Which Maratha commander was killed during the Third Battle of Panipat?
o A)BajiRaoll
o B) Balaji Baji Rao
o C) Sadashiv Ballal

o D) Mahadji Shinde
Answer: C) Sadashiv Ballal

6. Who was the ruler of the Mughal Empire at the time of the Third Battle of Panipat?



o A)Shah Alam Il
o B)Akbarll
o C) Bahadur Shah Zafar

o D) Muhammad Shah
Answer: A) Shah Alam Il

7. Which army was allied with the Marathas during the Third Battle of Panipat?
o A)Rajputs
o B)lJats
o C) Shuja-ud-Daula's Army

o D) Sikhs
Answer: C) Shuja-ud-Daula's Army

8. What was the main reason for the Maratha defeat in the Third Battle of Panipat?
o A) Lack of proper training
o B) Heavy casualties
o C) Betrayal by allies

o D) Strategic mistakes and logistical issues
Answer: D) Strategic mistakes and logistical issues

9. The Third Battle of Panipat was fought at which location?
o A) Delhi
o B) Lucknow
o C) Panipat

o D)Agra
Answer: C) Panipat

10. Which Afghan ruler is also known as Ahmad Shah Abdali?
o A) Zahir Shah
o B)Jalal-ud-Din
o C) Ahmad Shah Durrani

o D) Nadir Shah
Answer: C) Ahmad Shah Durrani

11. Which Maratha general was responsible for organizing the Maratha forces during the
battle?

o A) Mahadji Shinde

o B)BajiRaol



o C) Shamsher Bahadur

o D) Sadashiv Ballal
Answer: D) Sadashiv Ballal

12. Who was the commander of the Afghan cavalry in the Third Battle of Panipat?
o A) Najib-ud-Daula
o B) Shuja-ud-Daula
o C) Mirza Najaf Khan

o D) Ghulam Qadir
Answer: A) Najib-ud-Daula

13. Which of the following was a key factor that led to the Maratha defeat at Panipat?
o A) Shortage of food and supplies
o B) Lack of a strong central leadership
o C) Superior military tactics of the Afghans

o D) Maratha's internal divisions
Answer: A) Shortage of food and supplies

14. Which battle is considered the largest and bloodiest of the 18th century in India?
o A) Battle of Plassey
o B) Battle of Buxar
o C) Third Battle of Panipat

o D) Battle of Haldighati
Answer: C) Third Battle of Panipat

15. What was the primary objective of Ahmad Shah Durrani in the Third Battle of Panipat?
o A)To annex Delhi
o  B) To defend his empire from Maratha invasion
o C) To strengthen his control over the Mughal Empire

o D) To capture the Maratha treasury
Answer: B) To defend his empire from Maratha invasion

16. Which Indian ruler allied with Ahmad Shah Durrani during the Third Battle of Panipat?
o A) Shuja-ud-Daula
o B) Raja Suraj Mal
o C) Maharaja Jai Singh

o D) Mir Qasim
Answer: A) Shuja-ud-Daula



17. Which famous Maratha general fought in the battle but was not present at Panipat due to
his absence?

o A) Mahadiji Shinde
o B)BajiRaoll
o C) Mahadji Shinde

o D) Raghoji Bhosale
Answer: A) Mahadji Shinde

18. Which famous Maratha leader was defeated in the Third Battle of Panipat?
o A)Baji Rao |
o B) Chhatrapati Shivaji Maharaj
o C) Balaji Baji Rao

o D) Sadashiv Ballal
Answer: D) Sadashiv Ballal

19. Which factor was crucial in determining the outcome of the Third Battle of Panipat?
o A) Superior artillery
o B) Maratha cavalry
o C) Afghan guerilla tactics

o D) Numerical superiority
Answer: D) Numerical superiority

20. Which Mughal emperor was present at Panipat during the battle?
o A) Aurangzeb
o B)Akbar I
o C)Shah Alam II

o D) Jahangir
Answer: C) Shah Alam Il

21. What was the estimated number of soldiers involved in the Third Battle of Panipat?

o A)50,000

o B) 100,000
o () 200,000
o D)300,000

Answer: B) 100,000
22. Who was the ruler of the Maratha Empire at the time of the Third Battle of Panipat?

o A)BajiRaol



o B) Chhatrapati Shahu Maharaj
o C) Mahadji Shinde

o D) Balaji Baji Rao (Nana Saheb)
Answer: B) Chhatrapati Shahu Maharaj

23. Which of the following was NOT a result of the Third Battle of Panipat?
o A) Marathas suffered heavy casualties
o B) Ahmad Shah Durrani established dominance over northern India
o C) The Marathas lost their control over Delhi

o D) The Maratha Empire expanded in the north
Answer: D) The Maratha Empire expanded in the north

24. Which side had the numerical advantage during the Third Battle of Panipat?
o A) Marathas
o B) Afghans
o C) Both sides had equal strength

o D) Neither side had a clear advantage
Answer: B) Afghans

25. The Third Battle of Panipat ended with the complete defeat of which side?
o A) Marathas
o B) Afghans
o C)Rajputs

o D) Sikhs
Answer: A) Marathas

26. Which of the following was the main reason for Maratha’s delayed arrival at the
battlefield?

o A) Political conflicts
o B) Lack of reinforcements
o () Internal dissent and lack of unity

o D) Harsh weather conditions
Answer: C) Internal dissent and lack of unity

27. What happened to the Maratha Peshwa’s family after the defeat at Panipat?
o A)They were imprisoned by the Afghans
o B) They fled to Pune

o C) They were killed



o D) They sought asylum with the British
Answer: B) They fled to Pune

28. Which of the following played a key role in the final strategy of the Afghan army during the
battle?

o A) Artillery
o B)Cavalry
o C) Guerrilla tactics

o D) War elephants
Answer: B) Cavalry

29. After the Third Battle of Panipat, which power emerged as the dominant force in northern
India?

o A) Mughals
o B) Marathas
o C) British

o D) Sikhs
Answer: D) Sikhs

30. How long did the Third Battle of Panipat last?

o A)1lday

o B)2days
o C)3days
o D)4 days

Answer: A) 1 day
31. Which Sikh leader played a role in the post-battle aftermath in Panipat?
o A) Guru Gobind Singh
o B) Banda Singh Bahadur
o  C) Ranjit Singh

o D) Hari Singh Nalwa
Answer: B) Banda Singh Bahadur

32. Who was the Afghan general who led the siege of Panipat?
o A) Najib-ud-Daula
o B) Ghulam Qadir
o C) Najaf Khan

o D) Mirza Najaf Khan
Answer: A) Najib-ud-Daula



33. The Third Battle of Panipat marked the decline of which empire's power in India?
o A) Mughal Empire
o B) Maratha Empire
o C) Rajput Confederacy

o D) Delhi Sultanate
Answer: B) Maratha Empire

34. Which major Indian power had to cede significant territories after the Third Battle of
Panipat?

o A) Marathas
o B) Afghans
o C) Sikhs

o D) Rajputs
Answer: A) Marathas

35. Which Maratha leader was sent by the Peshwa to aid Sadashiv Ballal during the battle?
o A) Mahadiji Shinde
o B)BajiRaol
o C) Shamsher Bahadur

o D) Vishwas Rao
Answer: A) Mahadji Shinde

36. Which other group besides the Marathas and Afghans participated in the Third Battle of
Panipat?

o A)lats
o B)Rajputs
o C) Mughal soldiers

o D) Sikh warriors
Answer: C) Mughal soldiers

37. Which leader was known as the ‘Mughal Emperor’ during the Third Battle of Panipat?
o A)Shah Alam I
o B) Akbar
o C) Aurangzeb

o D) Bahadur Shah Zafar
Answer: A) Shah Alam Il

38. The Battle of Panipat (1761) significantly impacted which Indian dynasty's power?



o A) Maratha

o B) Mughal
o C)Rajput
o D) Sikh

Answer: A) Maratha

39. Which Maratha general was captured by the Afghan forces during the Third Battle of
Panipat?

o A) Vishwas Rao
o B) Sadashiv Ballal
o C) Shamsher Bahadur

o D)BajiRaoll
Answer: B) Sadashiv Ballal

40. The aftermath of the Third Battle of Panipat was a blow to which of the following?
o A) The Mughal Empire
o B) The Rajput Confederacy
o C) The Maratha Empire

o D) The Sikh Empire
Answer: C) The Maratha Empire

41. What was the main reason for the Afghans' success in the battle?
o A) Better leadership
o B) Maratha’s overconfidence
o C) Strategic alliances with local rulers

o D) Maratha's unpreparedness
Answer: C) Strategic alliances with local rulers

42. The Maratha defeat in the Third Battle of Panipat led to the weakening of which region?
o A)South India
o B) Northern India
o C) Eastern India

o D) Western India
Answer: B) Northern India

43. Which of the following was a consequence of the Maratha defeat at Panipat?
o A) Maratha Empire was completely destroyed

o B) British influence increased in India
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C) Mughal dominance was restored

D) Nadir Shah returned to India
Answer: B) British influence increased in India

44. The Third Battle of Panipat had its significant impact on the future of which colonial power

in India?
o A) Portuguese
o B) Dutch
o C)French
o D) British

Answer: D) British

45. How many casualties did the Marathas suffer in the battle?

(@)

o

(@)

(@)

A) 10,000
B) 50,000
C) 70,000

D) 100,000
Answer: C) 70,000

46. Which major weapon system was crucial in the Third Battle of Panipat?

(@)

o

(@)

(@)

A) Cannons and artillery
B) War elephants
C) Longbows

D) Catapults
Answer: A) Cannons and artillery

47. Who led the Maratha infantry at the Third Battle of Panipat?

(0]

o

(@)

o

A) Sadashiv Ballal
B) Mahadji Shinde
C) Baji Rao |

D) Shamsher Bahadur
Answer: A) Sadashiv Ballal

48. The Third Battle of Panipat ended with the annihilation of which faction's forces?

o

o

o

A) Marathas
B) Afghans

C) Rajputs



o D) Mughals
Answer: A) Marathas

49. The Third Battle of Panipat was fought between which two major factions in Indian
history?

o A) Marathas vs. Mughals
o B) Rajputs vs. Mughals
o C) Marathas vs. Afghans

o D) Sikhs vs. Mughals
Answer: C) Marathas vs. Afghans

50. After the defeat in the Third Battle of Panipat, the Marathas were forced to focus on which
region?

o A) North India
o B)Southern India
o C)Bengal

o D) Western India
Answer: B) Southern India
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